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Express the answers in terms of 77, if necessary. #[AZ% » LA 7 ZoRB K BfH -
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Write the answers on the spaces provided in the answer sheet.

1.

. When the figure is folded into a cube. Find the letter that is on the EI|F

face opposite to A.
D
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. The figure shows a square ABCD. E, F and G are mid- A B
points of AD, DC and CB respectively. Find the ratio of
the area of the shaded region to the area of ABCD. e 2 b
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Evaluate (654321)(654321) — (654323)(654319) .

at B (654321)(654321) — (654323)(654319) -
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If a, b and ¢ are digits from 0 to 9 for which 9b2-48¢c =a73 , find the value ofa + b +c.

HabRkcf0EI ZBFMBEFK 9b2-48c=a73 JRIL» Ka+b+cZf -

. If the ratio of the difference, sum and product of two numbers is 1 : 7 : 24, find the value

of the product of these two numbers.

Ml 72 - FIBBUZLERS 1:7:24 > SRECRIBUZAR -



7. In a class of no more than 40 students there are exactly 10% more girls than boys. How
many girls are there?

—HEDIR 40 ANBYRB A 048 NBRISFEEBEANBS BBt « RLENY -

8. Givena =999%x998998999 and b =998x999999998 . Find the value of a—b.
B4 a=999x998998999 K b=998x999999998 - K a—b ZfH -
9. Findthe valueof 1-2-34+4+4+5-6-7+8+9—-...... +1996+1997 -1998 -1999.

K1-2-3+4+5-6-7+8+9—...... + 1996 + 1997 — 1998 — 1999 . Zfifi °

10. The figure shows a square circumscribed by a circle. If this
square is divided into five equal rectangles and each
rectangle has perimeter 24cm, find the area of the circle.

[Give the answer in terms of 7]
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11. The figure shows a regular octagon ABCDEFGH. Find ZDAF. A B

2N + ABCDEFGH &—{Bl1E/\i8¥ » K£DAF - o

12. In how many ways can you get from A to B if you are only B
allowed to move from left to right or vertically/diagonally
upwards.

HRGEHELAESL R TELEROHARE LBY > 5%
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13. Find a four-digit number abcd, which is equal to dcba when multiplied by 9.

—Pufi B abed Fe 9 % dcba o SRIEPULIH

14. In the figure, ABCD is a rectangle. DC=5.Eisa A E B
point on AB such that DE = 3 and EC = 4. Find the
perimeter of rectangle ABCD. 3 4

it ABCD 5% DC=5> Ef§ AB |—
% fif DE=3+ EC=4 - k4 ABCD ZJ&
;o 5
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Answer the following questions completely on the spaces provided in the answer sheet.
15. Which value is bigger : 2'%% or 37°° 2 Explain.

21900 g1 3750 chr v B — (ALK ? FHARFE -
16. By using the dots in the given square grid as vertices, how many squares of different

areas can be drawn?
Draw each of these squares on the square grids provided on your answer sheet.

How many right angled triangles, which are not isosceles, can be drawn on the square
grid, using the dots as vertices? Draw each of these triangles on the square grids
provided on your answer sheet.

For figures with same area, you need to draw only one of them.
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17. In the figure an isosceles triangle ABC can be divided into 2 smaller isosceles triangles.
Suggest all other isosceles triangles, which can also be divided into 2 isosceles triangles.
Draw these triangles in your answer sheet and indicate the sizes of all angles in each
triangle.
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End of Part B Z. 52



